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1. You must let me have the annual report without by ten o’clock tomorrow morning.
A failure B.hesitation C.trouble D.fail
1. D [#&477] BiEiEE P, AR RSV ERRE L 10 REHEERERE L L% without
fail RKIFBEE, —E, HMJ/LMSAEARSF, hesitation FRnILHg, REE-

2. As soon as he opened the door, a of cold air swept through the house.
A flow B.movement C.blast D.rush

2. C (4] 137818 X, B mRl—FF 1], —RESER T #HE. flow (RIER)
s, movement (FLER) &z, rush (ZFFR) B blast GRZIKY) =IBAN, H&
BR.

3. China may as well keep its growth rate above 7 percent. , the rate may be set between

6 to 7 percent, for the sake of a healthy environment.
A. Differently B. Alternatively C. Accordingly D. Conversely

3.B [#t7] ZEZENEFEXFHT. ATRF—NMEERAE, FEERRFEKERE 7ML
AF, HEBXPLLRIZEBERE 6%%] 7%z (8], Differently R[EH; #HFHb; Alternatively 5,
EHiE$E; Accordingly M1, Fs&, Conversely 2, B, RIFEE, B IIEH.
4. The questionnaire takes ten to fifteen minutes to complete and can be used along with

the assessment interview

A.mainly B.punctually C.approximately D.precisely

4.C [fAr] HERNFIEXHT. A& BB EELKRL 10 2 15 204005868, BT AR
fEEIRR—EEM. Amainly TFH#, K# B.punctually $ZhfiHh, M, C.approximately
K#E; D.precisely f5#ith, /A, —2AGH, Bt AL, HIERHES ten to
fifteen minutes... 7] IXFH], XENIZE KA HEE.

5. Whether you inherited an breast cancer gene or acquired it, if you have one normal gene,
that gene will still work to control cell growth and prevent cancer.

A. abstract B. abnormal C. abundant D. absurd

5 B [#t] ZEEFEEXFFN. I8 NERSERATRENIAREREASIKET
NEE, MRFE—NEFNER, BABNERERNDERIEEARES AEHNIEKITSE %‘J
JERE. abstract F§& AY; abnormal ANIEEHY; abundant EFAY; absurd FEM, #%E B

6. This expert said he would rather accept a student who was not temporarily
successful in his study.

A. respectable; respectful B. respective; respected
C. respectful; respectable D. respected; respective



6. A [fEtT] ZERREFT. 98 XUZIABFMNERRMTREX —NEFI LT

RN FREIF 4 . A, respectable [ESEERY; respectful H1LIRHY, FK¥ELAY; B. respective

£ BHY, respected ZFEEAY, C. respectful FRLIRAY, F5EAY, respectable EFEER, D.

respected ZEHAY; respective FEHAY., RIBAE, ABIER,

7. Many of us have concerns about the challenges facing future generations as our global population

and the earth’s natural resources decrease.

A. extends B. declines C. swells D. varies

7. C [f24A7) Z&EDNEE X H# . A.extends 3k, B.declines TF&; C.swells fZRK; D. varies
. AR BESKAONEKIEARENED, HA1TFE NGNS ERE PR

1, #R3E“the earth’s natural resources decrease” ¥ Btk Ab R A O MK, #% C TIIE#.

8. When I was a young child, I liked lying on the grass in the back yard of my house the

starry sky, imagining what was in heaven.

A. beyond B. beneath C. across D. around

8.B [f#r] HaEMAFXHir. AR HEENNEFHE RERMERRERN

B b, AESTRRERZE LHLMH A, beneath ... TH”, FHIER.



